
ŝ

$%675$.

$QLWD�.XUQLD�������������� ��3HUDQFDQJDQ�6LVWHP�$NXQWDQVL���
3DGD�&9��/,0$�6$8'$5$�

3HPELPELQJ ��0LD�$QJHOLQD�6HWLDZDQ��6�(��0�6L

6LVWHP� DNXQWDQVL� DGDODK� RUJDQLVDVL� IRUPXOLU�� FDWDWDQ�� GDQ� ODSRUDQ� \DQJ�

GLNRRUGLQDVL� VHGHPLNLDQ� UXSD� XQWXN� PHQ\HGLDNDQ� LQIRUPDVL� NHXDQJDQ� \DQJ�

GLEXWXKNDQ�ROHK�PDQDMHPHQ�JXQD�PHPXGDKNDQ�SHQJHORODDQ�SHUXVDKDDQ�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� \DQJ� GLSHUROHK� GDSDW� GLNHWDKXL� EDKZD� SDGD�

&9��/LPD�6DXGDUD�EHOXP�PHQHUSDNDQ�VLVWHP�DNXQWDQVL�\DQJ�WHSDW�GLPDQD�SDEULN�

WLGDN�PHODNXNDQ�SHQFDWDWDQ�DNXQWDQVL�\DQJ�EDLN��WLGDN�DGDQ\D�GRNXPHQ�GRNXPHQ�

\DQJ�WHUNDLW�WUDQVDNVL��PHQXPSXNQ\D�SHUVHGLDDQ�NDUHQD�WLGDN�DGDQ\D�SHPHULNVDDQ�

GLJXGDQJ� VHFDUD� EHUNDOD� 7XMXDQ� GDUL� SHQHOLWLDQ� LQL� DGDODK� XQWXN� PHPEHULNDQ�

VDUDQ� SHUDQFDQJDQ� WHUKDGDS� VLVWHP� DNXQWDQVL� SHQHULPDDQ� NDV�� SHQJHOXDUDQ� NDV��

SHUVHGLDDQ��SHPEHOLDQ��VHUWD�SHQJJDMLDDQ�GDQ�SHQJXSDKDQ�SDGD�SHUXVDKDDQ�


